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nedule (theSchedule: Schedule, forSemester: Semester) 4 Public booleane
Prerequisites(forCourseOffering: CourseOffering) : boolean true, false 2| &
ssed(theCourseOffering: CourseOffering) : boolean
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A
pUblIC class Student
{ l

private String name;

protected String department;

long packageAttribute;

public void addSchedule (Schedule theSchedule; Semester forSemester) {

}

public boolean
hasPrerequisites(CourseOffering forCourseOffering) {

}

protected boolean

passed(CourseOffEfity ﬂ-&%gﬂé’g{ 3

T




VS8A o omao)y

——

LoLSuEcHN class Student
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BNt = 1
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private static int nextAvaillD = 1;
o vaillD() : int public static int getNextAvaillD() {
- am }
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Bl ==0F X0l S0| OtLI2t EcHL 0|FL=2 =

i il import java.lang.Math;
utlity import java.util. Random;

=2 MathPack class MathPack
andomSeed : long =0 {

i : double = 3.14159265358979

|+sin (angle : double) : double | . ) .
_:1l +(‘nq((angnlp dnuhlp)\ "double  foooo-o__] RS final static double pr=

e = 3.14159265358979;
5: QEOM() - double public static double sin(double angle) {
I return Math.sin(angle);

private static randomSeed long = 0;

void somefunction() { }
static double cos(double angle) {

return Math.cos(angle);
}
static double random() {
return new

xen cs_g%ﬂoi F®Random(seed).nextDouble(); 5

myCos = MathPack.cos(90.0);




lic class User {
;o rivate String email;
=rpub11c String getEmail() {
- return email;

b
public void setEmail(String value){
email = value;

=

+
public void notify(String msg) {
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/* Other methods omitted */

LeagueOwner
+maxXxNumlLeagues:int

public class LeagueOwner extends
User {

private int maxNumLeagues;
public int getMaxNumLeagues() {
return maxNumlLeagues;
}
public void setMaxNumlLeagues
(int value) {
maxNumLeagues = value;

}
/* Other methods omitted */
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Schedule

// no need to import if in same package

class Schedule
{
public Schedule() {} //constructor

private Student theStudent;
1

N

Student

class Student

{

public Student() {}
private Schedule theSchedule;
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jule 7"7<1I—| =el0]HE
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| schedule

class Schedule

{
public Schedule() { }

}

Student

class Student

{
public Student() {}

private Schedule theSchedule;
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C "‘" s Professor

- "‘{
public Professor() {}
private CourseOffering theCourseOffering;

}

class CourseOffering

----------- {
public CourseOffering() {}

private Professor instructor;
j
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O CourseOffering 2l 2= public Hl & CourseOfferlng()JP S
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class CourseOffering

{
public CourseOffering() {}

. primaryCourses

}

B Ee -
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class Schedule

{
public Schedule() {}

private CourseOffering[] primaryCourses =
new CourseOffering[4];

publlc getCourseOffering() { return
primeryCourse.element(); }

public addCourseOffering(CourseOffering ¢

p——yd
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import java.util.Vector;

i

B Course |- class Course

{
public Course() {}

/[ is stored in a vector
private Vector prerequisites;

/l The unbounded multiple association

}

Q 2d £ Course= AtJ| At2lo|l £506H= A 2F A2t
O Vector= java.utildl] Y= S22 A 9 g S 2|
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- | class Schedule

___________ {
public Schedule() {}

private Student theStudent;
}

import java.util. Vector; >

class Student

,,,,,,,,, {
,,,,,,,, public Student() {}

private Vector theSchedule;

Student

}
O ‘Student’ Zel2= Vector 2|2E EFY Q| Zef| A2 M A
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_aniissl class Schedule
e {
i public Schedule() { }

private Student theStudent;
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import java.util.Vector,

class Student

Student {------ { :
public Student() {}

private Vector theSchedule = new Vector(),

0 Java= containment by value A HSHA| LS
O theSchedule 22l 2~= Student 2| 20 AA

oHl
2]




_"Interface, Realize 2T
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| interface Serializable {

: I-.;ﬁ?':'_'”_'____ )

C~

class Schedule implements Serializable {

}

<<entity>>
Schedule 777777
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<<Interface>>
[WaterVehicle

interface IWaterVehicle :
extends IVehicle

]

S

<<realize®>
7

L

Amphibious
Vehicle

class AmphibiousVehicle RN
extends LandVehicle
implements WaterVehicle
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abstract class Animal

Liaia .

public abstract void talk();

}

| {
Tiger  |p------- public Tiger() { }

public void talk() { }

I 2N | DY AN
+laiK() 1

: AN
class Tiger extends Animal
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template <T, n>
class Set

& Tt | ;

—_————_————

Vector T[100];
public insert(T const &d);

insert(T)

remove(T) ‘ punlic remove(T const &d);
¥
| <<bind>>
| <float, 100> =
| ?} : Set<float, 100> mySetOfFloats;
-"; mySetOfFloats
e
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package com.abc.library;
class ClassA .... {

abc
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= <<subsystem>>
Lol CourseCatalog
- ICourseCatalog
i-*éUrseOfferings() : CourseOfferingList
L | |
T _ . _
" ' O o otoll= public class St
| package CourseCatalog; | Mot Its
‘=10 — o
- | public interface ICourseCatalog { 0 E ALY 2 AL 5 )
: public CourseOfferingList d Ied 0|22 0] 229 0f
getCourseOfferings(); st 2
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- Path for loop
statement

[m— e e — == —»

FPath for if-statement

|

- Action State 4] *

Fath for if-then-

E -
else statement
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while (true) {

while (amount < price) {

{ wait for coin =
g [elze] }
[amourt = pres——— | . .
while (selection is not done) {

¥

weait for selection ) T~ :
If selection is “eject coins” {

[else] Q (siect coins] dispense coins;
:: i set selection to “done™:
[zelect software drink iz avalEE——

>
>}
d/ else if selection is a valid soft drink {
=
Aicmarmsa - [ERSRENTS (Hithhqn softveare drink

Q Action2 Hlat &, &) C = thread & Y

I
| 23




WIE| ciojoage 3y




5 1 .'..- +l ,‘!1'...._:......._ )
Bl ERii Ll Lo = I

EREIEE

| VB[ Ciojoj e

—

.J,_==" _ _l [I'II _/|\_E

|~ oto] =H 3

>

evert_h [gquard _condition_w

uu"" JE :/\/\1—4 g)t

public void event_n(....) {
switch (state) {
case state k:
It (gquard_condition_w) {
state = state. m;

perform actions of the transition;

}

break;
case state_v:
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1] | o
~ | class VendingMachineControl
i {
int _state;

float _amount, price;

static final int WaitingCoin = 1;

static final int WaitingSelection = 2;
static final int DispensingSoftDrink = 3;
static final int DispensingChange = 4;
static final int EjectingCoins = 5;
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public VendingMachineControl(float price)

{
_amount = 0;
walting for coins) _state = WaitingCoin,
> price = price;
}
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<|naerted coin [arount+coint'alue = price]! sdd coin value to amDuD

I —

saiting for coins

(
\

< inserted coin [Emount+coin alue = price]f show available soft d@

N

_I{wa'rting for selection

o

L._ : Jr\ |pressed a soft drink [zoft drink is availakle]

public void insertedCoin(float coinValue)
{
if (state == WaitingCoin)
{
amount += coinValue;

i if (amount >= price) { // fire transition
= state = WaitingSelection;
show available soft drinks:;

}
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o1 ClassA, 02 Clasgb

| messagel ! !
I I I

:? thessage? -
| 7
I I
| ressanes |
I I
| |

23 Classc

ClassB

{
ClassC 03;

ClassD o04;

method1(...)

{
03.method?2(..);
04.method3(..);
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